7%-8t grades 2019

7th .8t Grade
Regional Math Meet Tests
2019

- Individual Problems
- Event 1: Problem Solving (No Calculator)
- Event 2: Problem Solving (With Calculator)
- Event 3: Mathematical Reasoning
- Event 4: Mental Math

- Team Problems
- Event 5: Team Problems

- Tie Breaker Question
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7'"-8% grades 2019

Name: School Team:

Event 1: Computations Without Calculator- 20 points total

Circle your final
ahswerl
Part I (2 points each)

Give all answers in simplest form.
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4. What percent of 14 is 18.27
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5. We know 6(x+4) — 7 =— 7. Find the value of - 3x’ - 2x
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7t-8th grades 2019

Name:__ School Team:

_.""’.—._.H_'__'
Circle your final
answerl

Event 1: Computations Without Calculator
Part II (2 points each)
Give all answers in simplest forn.

1. Write 5,694.2% as a simplified mixed number.
qyz
5694.2% = 56.992 =56 Tovo

2. Find g of 680% of 27.
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5. TFind the value of x. 6x—18(2 +x)—-10 =5x+1)
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7th-8t grades 2019

Name: School Team:

_— o —
Circle your final
answerl

Event 2: Computations With Calculator- 25 points total
Consumer Math (5 points each)

1. A 12 ounce can of green beans costs 69 cents and a 20 ounce can of green beans costs

$1.17. Which is the better buy? 20 oo cecans i i s \
= W e O .0585 \ounce
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2. A man decides to go into business selling vacuum cleaners. He purchases 53 vacuum
cleaners for $47.79 each. He marks up their price by 132% to sell. After selling 18 of
the vacuum cleaners, he discounts the rest by 25%. Find his total profit or loss. Be sure
to label if it is a profit or loss. Round to the nearest cent.

Man's Cost | §3 x 2,79 = 8253283 35 x 5 83,152 72910, 25 selling resr
2,32 x ¥Y4y2.29= H.”o,hg.} macivp price 81995, 66 + 59qi0,25 - ¥ 2532.89 = ¥232204
%% 110,83 < 91995, 40 Gest 1 s0kd  ——

FSx 910,83 259315 discovnted price C Net protit §2333.04

3. lan’s paycheck is $168.04. He knows that his deductions were $35.26 during this pay
period. If he makes $10.70 an hour, how many hours did he work?

00504 + 935,06 97 032,30 chectt belue deducrions @-g
j103f20 - 9/0 ro= 19 }VS war‘Kcn‘ I }

4, Suppose that you want to purchase a laptop for $617.89 and a printer for $134.57. You
have a coupon for $10 off the printer, which will be applied before tax. Additionally, the
store offers a 5% discount for purchases on laptops on Tuesdays. If you buy everything
on a Tuesday and sales tax is 5.7%, find the total cost. Round to the nearest cent.

Laptop Peinter Totul Cost p
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5. An entrepreneur spénds $18.71 on each craft he creates. He wants to sell 35 crafts and
make at least $400. Find the smallest percent markup that he must use to reach this
profit. In calculations, round to the nearest cent. Round your percent to the nearest tenth.

35 "ﬁiml = gé‘}"ﬂ,ﬁf cost a-P en-}rej;rzneur'
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7th-gth grades 2019

Name: B School Team:

Event 3: Mathematical Reasoning With Calculator- 35 peints total

Circle your final
) answer!
Geometry (7 points each)

Remember to use labels when appropriate

1. Find the measure of the acute angle made by the hands of a clock at 3:20.

340° 12 = 307 in betwern each pair of numbes

Hour %Mpolv mudhj %% =7 o“' Olt'sl"zmt:,a"':? o
300"!00: 0"
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7 Amber is thinking of an angle. The complement of the angle is % of its supplement. Find
the measure of the angle that A.mber is thinking of.
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3. Two men start at the same point, walk in opposite directions for four meters, then turn
left and walk another 3 meters. What is the distance between them now?

Distmace s Lx
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Name: School Team:

Event 3: Mathematical Reasoning With Calculator- 35 points total
T
Clrele your final
answer!

4, Ben is thinking of a rectangle with a perimeter of 216cm. The length of every side of the
rectangle he’s thinking of is a multiple of 3. The area of the rectangle he’s thinking of is
between 1000cm? and 1800cm?. Find the dimensions of all possible rectangles that Ben

Geometry Part IT (7 points each)
Remember to use labels when appropriate

might be thinking of.
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5. A square has an area of 36in?. What is the area of a circle whose diameter is as long as
the diagonal of that square? Use 3.14 for pi. Do not round any other numbers unti] the
very end of the problem, then round your final answer to the nearest hundredth.

Gin Xl: él’*(;z .

X 6[0 1 q’z H: mr 2
X = A- g,sq(q,zqzwom)
X2 4852813 A= 50,52
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Name:

School Team:

Event 4; Mental Math (no calculator)- 20 points total
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Name: School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 1: Number Theory (3 points each)

1. Some aliens have entered your classroom. They work math problems differently than
what you’re used to. They seem to folloWw some strange rules when solving arithmetic
problems. The rules do not change- they always stay the same. Assume that the aliens
found the cotrect answers to each of the problems shown below.

5@ 4=23 1©3=6 20 8=19 197=24 A*B+3
63t1=4 6%t5=-4 8t3=2 93F2=5 A-26

Solve each of the problems below, using the same rules as the aliens.
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7th-8th grades 2019

School Team:

Name:

J—-
Circle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total e

Part 2: Probability (9 points each)

Werite all answers as a fraction. Remember to simplify!
2. Solve each of the problems below.

a) Celia rolls a pair of fair dice, multiplying the values shown. Find
i. The probability that the outcome is prime

ii. The probability that the outcome is even

iii. The probability that the ouicome is greater than 10 6 |

| i\ il S.__L.@._. U Peime values ‘ao»}
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bj’ A fair coin is flipped 4 times. Find
i.  The probability that the outcome will not be 5‘ heads
ii. The probability that the outcome is exactly 2 heads and 2 tails (any order)

iii. The probability that the coin landed heads up at least once
p
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Name: School Team:
/ Circle your final
Event 5: Team Problems (with calculator)- 100 points total —

Part 3: Problem Solving (8 points each)

Remember to simplify all fractions!

S,

2)

b)

d)

Solve each of the problems below.

F+410 F

10 years ago, Edwin was the same age that Falisha is now. In how many years will
Falisha be as old as Edwin is now? °

_/LQ Falisha 5 x ﬁ(ﬁ/ Eclmn is |0 +x ng

Pl

Gus has a drawer with socks in it. He knows that he has 8 red socks, 12 blue socks, 6
green socks, and 14 black socks. Gus wants to have a pair of blue socks to match his
favorite shirt, but he can’t turn on the lights, What is the smallest number of socks that
Gus needs to pull out from the drawer in order to guarantee that he has a pair of blue

socks? o C_OUH A oot all M ¢ othes coloun -Q\rjir So E+beid=2¢
Nen L\Q needs A bl

Amber is thinking of an obtuse angle. The digits of the angle measure are all odd, no
digits are the same, and the sum of the digits is 13. Find all possible angles that Amber
could be thinking of. i

44 x 1ob >
139 135
4% x

157

Find the four digit number in which the first digit is five times the last, the second is four
more than the first and three times the third, and the third is two more than the last and

\3%215%@1?6“

two less than the first. PO 5. L‘Ie Lﬁs’r |SF
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Name: School Team:

Circle your final
answer!
Event 5: Team Problems (with calculator)- 100 points total

Part 4: Rates (8 points each)

a) During a basketball camp Hector and Joe keep track of the number of free-throw
shots that they make. Before the last day of camp, Hector has made 100 of his 150
attempts. Joe has made only 99 of his 150 attempts. On the last day, Joe shoots and
makes 12 more. Hector shoots 13 more but only makes 11 of them. Who was the
better free-throw shooter over the entire basketball camp?

\”‘EQP_L Joe
Il n
103 bz

b) Two typists can type two pages in two minutes. How many typists will it take to type
eighteen pages in six minutes?

2 ypiss el briv B bpmges = peed Wpys, So 3 aroses

A

¢) A mile-long train traveling at 60mph enters a mile long tunnel. How long does it take
for the entire train to pass through the tunnel?

tuin ‘h\‘(\e&ﬁ Y ‘H‘aucg‘ ,ﬁ e
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d) Kensie runs one lap around the track at a speed of 3mph and a second lap around the
track at a speed of 6mph. Find her average speed for the two total laps run.

Say | lup hos distance of x

To‘lu\ C’f)iﬁnce Ax : ___;1_?2._ - __%.’f_. N ?_f-— ) é_, - H
Ty tal Time X X Ax K =% o3
Total Tim A 7 *(, i
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Name: School Team:
Clrele your final
answer|
TIE BREAKER (with calculator)

1) If you find the product of the first 25 positive integers, how many zeros will

be at the end of the number? Zerps ore | Og/ |05 mac& .Q,, mnS2

more 55 than L5 $o covnt Ls
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2) You roll 8 dice and find the product to be 2° x 3°. What are all of the

possible sums of the dice? onlj sy +o ged *’5}1“; is Lrom 23 Is 63
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3) A rectangle has a perimeter of 40 centimeters. The length and the width are
both integers. How many different rectangles are possible?
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